2000FE 35U LEBFZ2TILR

JIB4z K FhiE BN OILA | BRSOV Total

1 HEATERE Emmtii] 30 - 30
2 {ERTTA FEBMEZEED 10 12 22
3 = Fx ARERE - 20 20
4 BIRES U—-35 18 - 18
5 feRELE FAETC 10 - 10
6 FRIAIA AR Y- -

6 EHER5A RAMEE -




2000FE 35U LEBFHTILX

JIB4z K& FhiE =M TILR HAR—WE Total
1 =HIEZ NWTC 30 - 30
1 RIBBA(ZZR J REE 30 - 30
3 SHR3A HE - 20 20
3 ISEF=— NWTC - 20 20
5 = FX 57 hy-7° 18 - 18
5 RE=T 57 hy-7° 18 - 18
7 E %N t R ->TC - 12 12
7 FaLl t R ->TC - 12 12




2000FE 45U LEBFZ>TILR

JIB4z K& FhiE BN TILA | BRIV Total
1 ZAREEAR EISELTC 30 - 30
2 FIAHEER {EISELTC 10 12 22
3 RERS HARIINY - 20 20
4 AEZAH R > K77 18 - 18
5 TR ¥ J=Ath 10 - 10




2000FE 45U LEBFHTILX

JIB4z K& FhiE =N TILR HAR—WE Total
1 FIAHEER HISETC 30 - 30
1 ZAREEAR HISETC 30 - 30
1 mik 2 JASDF 18 12 30
4 KE HARIINY - 20 20
4 KEF HARIINTY - 20 20
6 FE=A7} JASDF 18 - 18
7 5K JASDF - 12 12




2000FE 55U EBFZ>2TILR

JIB4z K& FhiE BN ZOILA | ERS2TILR Total
1 REeZE— AR Y- 18 20 38
2 AFEZRZ {EISETC 30 - 30
3 INSHBE] VY - - 12 12




